

Evaluation of Cardiac Events in Diabetic Patients with Inadequate Exercise Test and Normal Myocardial Perfusion Scan Compared to the Control Group

Amir Mohammad Heydari¹, Elahe Ahmadi¹, Seyed Kazem Razavi², Mohammad Ali Jolodari¹, Nasim Namiranian^{3,4}, Zeinab Sahebi^{4*}

¹Faculty of Medicine Shahid Sadoughi University of Medical Sciences, Yazd, Iran.

²Associate Professor of Nuclear Medicine, Shahid Sadoughi University of Medical Sciences, Yazd, Iran.

³Associate Professor of Community & Preventive Medicine, Shahid Sadoughi University of Medical Sciences, Yazd, Iran.

⁴Diabetes Research Center, Non-Communicable Diseases Research Institute, Shahid Sadoughi University of Medical Sciences, Yazd, Iran.

Abstract

Objective: Ischemic heart disease is one of the most important complications of diabetes mellitus. This study aimed to compare the incidence of cardiovascular events in diabetic patients with inadequate exercise testing and normal myocardial perfusion scans with those who had adequate exercise testing and normal scans.

Materials and Methods: This retrospective study was conducted at Shahid Sadoughi Hospital in Yazd, Iran. Medical records of patients referred to the nuclear medicine department were reviewed. Patients were divided into two groups: those with inadequate exercise tests but normal myocardial perfusion scans and those with adequate exercise tests and normal scans. Patients' contact information was obtained from their medical records, and follow-up was performed by telephone to determine the occurrence of cardiovascular events, including cardiovascular-related death, coronary angiography, percutaneous coronary intervention (PCI) and coronary artery bypass grafting (CABG), myocardial infarction, and hospitalization due to cardiovascular disease. Data were analyzed using SPSS version 20, and statistical analyses were performed using the independent t-test and Chi-square test.

Results: A total of 210 patients were included in the study, of whom 86 (41%) were male. Dyslipidemia was present in 120 patients (57.1%), hypertension in 89 (42.4%), and smoking in 48 (22.9%). Hypertension and smoking were significantly more common in the study group than in the control group. Cardiovascular events occurred in 18 patients (17.1%) in the study group and 10 patients (9.5%) in the control group; however, this difference was not statistically significant ($P=0.10$). Although the risk of cardiovascular events in the study group was 1.35 times higher than in the control group, this difference was not statistically significant ($P=0.60$).

Conclusion: Although the incidence of cardiovascular events was higher among diabetic patients with inadequate exercise testing and normal myocardial perfusion scans, the difference compared with patients with adequate exercise testing and normal scans was not statistically significant.

Keywords: Cardiovascular events, Diabetes, Mortality, Ischemic heart disease, Myocardial perfusion scan

QR Code:



Citation: Heydari A M, Ahmadi E, Razavi S K, Jolodari M A, Namiranian N, Sahebi Z. Evaluation of Cardiac Events in Diabetic Patients with Inadequate Exercise Test and Normal Myocardial Perfusion Scan Compared to the Control Group. IJDO 2026; 18 (3) :219-226

URL: <http://ijdo.ssu.ac.ir/article-1-1063-en.html>



10.18502/ijdo.v18i3.22379

Article info:

Received: 28 October 2025

Accepted: 2 February 2026

Published in August 2026



This is an open access article under the (CC BY 4.0)

Corresponding Author:

Zeinab Sahebi, Diabetes Research Center, Non-Communicable Diseases Research Institute, Shahid Sadoughi University of Medical Sciences, Yazd, Iran.

Tel: (98) 912 620 8439

Email: zsaheby@gmail.com

Orcid ID: 0009-0001-7009-8387

Introduction

The cardiovascular system consists of the heart and blood vessels and plays a vital role in maintaining blood circulation throughout the body. Various disorders can affect this system, including endocarditis, rheumatic heart disease, and abnormalities of the cardiac conduction system (1). Although cardiovascular diseases may arise from different causes, atherosclerosis is the most common underlying pathological process.

Lifestyle-related factors such as physical inactivity and diets high in calories, saturated fats, and sugars contribute significantly to the development of atherosclerosis and metabolic disorders such as diabetes mellitus, hypertension, and metabolic syndrome (2). These conditions are major risk factors for cardiovascular diseases, which remain among the leading causes of morbidity and mortality worldwide and impose a substantial economic burden on healthcare systems (3).

Myocardial infarction (MI), commonly known as a heart attack occurs when blood flow to a part of the myocardium is reduced or completely interrupted. Most myocardial infarctions result from coronary artery disease (CAD), which leads to decreased oxygen supply to the myocardium and subsequent myocardial necrosis. Clinically, patients often present with chest discomfort that may radiate to the neck, jaw, shoulder, or arm. Diagnosis is based on clinical findings, electrocardiographic (ECG) changes, and elevated cardiac biomarkers such as troponins (4,5).

Several imaging techniques are used to evaluate myocardial perfusion, viability, and cardiac function, including echocardiography, radionuclide imaging, and cardiac magnetic resonance imaging (MRI). Echocardiography can detect regional wall motion abnormalities shortly after the onset of ischemia, while cardiac MRI provides detailed structural and functional assessment of the myocardium (6).

Nuclear myocardial perfusion imaging using single-photon emission computed tomography (SPECT) or positron emission tomography (PET) is widely used for evaluating suspected coronary artery disease. These methods provide more detailed diagnostic information than exercise electrocardiography alone. Although the definitive diagnosis of CAD requires coronary angiography demonstrating significant coronary stenosis, stress testing is useful for estimating disease probability, risk stratification, and guiding further diagnostic decisions (7).

Cardiovascular diseases remain among the leading causes of death worldwide (8). Therefore, accurate and timely diagnosis is essential. Stress testing combined with myocardial perfusion imaging is a relatively noninvasive method used to evaluate patients with suspected cardiovascular disease (9).

Myocardial perfusion imaging assesses myocardial blood flow and ventricular function, often by calculating left ventricular ejection fraction (LVEF). Single-photon emission computed tomography (SPECT), commonly performed using Thallium-201 or Technetium-99m tracers, can identify ischemic areas, infarcted tissue, and viable myocardium (10).

Exercise stress testing evaluates the heart's performance during physical activity, typically using treadmill protocols or bicycle ergometry. As exercise intensity increases, myocardial oxygen demand rises, requiring increased coronary blood flow (11-14). However, exercise stress testing alone has limitations, particularly in detecting diffuse atherosclerosis, as it mainly identifies flow-limiting coronary stenosis (15,16).

In clinical practice, some patients are unable to achieve an adequate exercise workload during stress testing, yet their myocardial perfusion scans may appear normal. The prognostic significance of this finding, particularly in diabetic patients who are at

higher risk for cardiovascular complications, is not fully understood.

Therefore, this study aimed to evaluate the one-year incidence of cardiovascular events in diabetic patients with inadequate exercise tests but normal myocardial perfusion scans compared with those who had adequate exercise tests and normal scans. Cardiovascular events in this study included cardiac death, coronary angiography, percutaneous coronary intervention (PCI), coronary artery bypass grafting (CABG), myocardial infarction, and hospitalization due to cardiovascular causes (9).

As exercise intensity increases, myocardial oxygen demand rises, requiring increased coronary blood flow (11-13). However, exercise stress testing alone has limitations, particularly in detecting diffuse atherosclerosis, as it mainly identifies flow-limiting coronary stenosis (15,16).

In clinical practice, some patients are unable to achieve an adequate exercise workload during stress testing, yet their myocardial perfusion scans may appear normal. The prognostic significance of this finding, particularly in diabetic patients who are at higher risk for cardiovascular complications, is not fully understood.

Therefore, this study aimed to evaluate the one-year incidence of cardiovascular events in diabetic patients with inadequate exercise tests but normal myocardial perfusion scans compared with those who had adequate exercise tests and normal scans. Cardiovascular events in this study included cardiac death, coronary angiography, percutaneous coronary intervention (PCI), coronary artery bypass grafting (CABG), myocardial infarction, and hospitalization due to cardiovascular causes (9).

Previous studies have evaluated the diagnostic value of different stress imaging techniques. Hung et al. (2010) reported that thallium imaging and cardiac fluoroscopy provided more diagnostic information than exercise electrocardiography in symptomatic

women without previous myocardial infarction (17). Paetsch et al. (2004) showed that dobutamine stress magnetic resonance imaging was superior to adenosine stress methods for detecting ischemia in patients with suspected coronary artery disease. Additionally, Fragasso et al. (2000) compared myocardial perfusion SPECT with stress echocardiography techniques in hypertensive patients with chest pain and positive exercise tests, demonstrating the diagnostic value of these imaging modalities compared with coronary angiography (5).

Materials and methods

This retrospective study was conducted at the Nuclear Medicine Center of Shahid Sadoughi Hospital in Yazd, Iran, during 1401 (2022-2023). The study population consisted of diabetic patients who had undergone myocardial perfusion imaging and had normal scan results. These patients had previously performed an exercise stress test that was classified as either complete (adequate) or submaximal (incomplete). A submaximal exercise test was defined as achieving 70-84% of the age-predicted maximal heart rate during treadmill testing.

Patients were identified through a review of medical records in the nuclear medicine department. Individuals with incomplete demographic information or those who declined to participate in the follow-up were excluded from the study. After identifying eligible patients, their contact information was extracted from medical records, and follow-up was performed via telephone to determine the occurrence of cardiovascular events after the initial evaluation.

For the purposes of this study, cardiovascular events were defined as any of the following outcomes: cardiovascular-related death, coronary angiography, percutaneous coronary intervention (PCI), coronary artery bypass graft (CABG) surgery, myocardial infarction, or hospitalization due to cardiovascular causes. During follow-up calls,

patients were asked standardized questions regarding the occurrence of these events, and when possible, additional clinical details were confirmed through available medical records.

A total of 200 patients meeting the inclusion criteria were enrolled in the study using convenience sampling based on similar previous studies. The participants were divided into two groups: patients with inadequate (submaximal) exercise tests and normal myocardial perfusion scans (study group), and patients with adequate exercise tests and normal myocardial perfusion scans (control group).

In addition to outcome variables, demographic and clinical characteristics were collected for all participants. These included age, sex, and smoking status, presence of hypertension, hyperlipidemia, and duration of diabetes. Blood pressure and other clinical parameters were obtained from the patients' medical records.

All collected data were entered into SPSS software version 20 for statistical analysis. Continuous variables were expressed as mean $\pm$ standard deviation and compared using the independent t-test. Categorical variables were presented as frequencies and percentages and were analyzed using the Chi-square test. A p-value of less than 0.05 was considered statistically significant.

The study had several limitations. Due to its retrospective design, some medical records contained incomplete or missing information. In addition, follow-up relied partly on telephone interviews, and some patients could not be reached or declined to provide information, which may have introduced response bias. Despite these limitations, the study provides useful insight into the clinical outcomes of diabetic patients with inadequate exercise testing but normal myocardial perfusion imaging.

Ethical considerations

The study protocol was approved by the Ethics Committee of Shahid Sadoughi

University of Medical Sciences, Yazd (ethics code: IR.SSU.MEDICINE.REC.1402.147).

Results

A total of 210 diabetic patients were enrolled in this study, including 105 in the study group and 105 in the control group. Overall, 86 patients (41%) were male and 124 patients (59%) were female. Among the participants, 120 patients (57.1%) had dyslipidemia and 89 patients (42.4%) had hypertension. A total of 48 patients (22.9%) reported a history of smoking. Baseline qualitative variables are summarized in Table 1. Hypertension and smoking were significantly more frequent in the study group compared to the control group. The frequency distribution of qualitative baseline variables was analyzed using the Chi-square test (Table 1).

The mean age of all patients was 55.5 ± 7.1 years (range: 44-72 years). The mean age was 55.8 ± 7.4 years in the study group and 55.2 ± 6.7 years in the control group. The difference in age between the two groups was not statistically significant ($P = 0.56$). The mean duration of diabetes was 8.6 ± 2.3 years (range: 4-15 years). The mean duration of diabetes was significantly longer in the study group (7.2 ± 2.8 years) compared to the control group (6.5 ± 1.7 years) ($P = 0.04$) (Table 2).

Regarding cardiac outcomes, 18 patients (17.1%) in the study group and 10 patients (9.5%) in the control group reported cardiovascular events. However, this difference was not statistically significant ($P = 0.10$) (Table 3).

When comparing cardiovascular events by gender, mortality and event frequency were significantly higher in men than in women ($P = 0.007$) (Table 4).

Since hypertension, smoking, and duration of diabetes differed significantly between groups, a multivariate logistic regression analysis was conducted. The duration of diabetes was categorized into two groups: less than 10 years and 10 years or more. After adjusting for hypertension, smoking, and diabetes duration, the study group showed a 1.35-fold higher

odds of developing cardiovascular events compared to the control group; however, this difference was not statistically significant ($P=0.60$) (Table 5). Based on the p -values, no statistically significant difference was observed between the two groups in terms of cardiovascular events.

Discussion

In the present study, 210 diabetic patients with normal myocardial perfusion scans were evaluated. The majority of participants were women. The prevalence of hypertension, smoking, and longer duration of diabetes was significantly higher in the study group compared with the control group. The incidence of cardiovascular events was 17.5% in the study group and 9.5% in the control group; however, this difference was not

Coronary artery disease (CAD) remains one of the leading causes of mortality worldwide, including in Iran. The Tehran Lipid and Glucose Study reported a CAD prevalence of 21.8% (22.3% in women and 18.8% in men), based on angina symptoms, medical history and electrocardiographic findings. This prevalence is higher than that observed in the present study (18). Similarly, the prevalence of CAD was reported about 28% among diabetic patients in Isfahan, which is also higher than the rate observed in our study. This discrepancy may be explained by methodological differences, as the present study evaluated only major cardiovascular events (18).

Diabetes mellitus is a well-established independent risk factor for ischemic heart disease. Kannel et al. demonstrated that the incidence of coronary events in diabetic

Table 1. Frequency distribution of qualitative baseline variables in total and by study group

Qualitative variables	Total	Study group	Control group	<i>P</i> -value
Gender				
Male	86 (41%)	61 (49.2%)	63 (50.8%)	0.77
Female	44 (51.2%)	44 (51.2%)	42 (48.8%)	
Dyslipidemia	120 (57.1%)	60 (50%)	60 (50%)	0.99
Hypertension	89 (42.4%)	53 (59.6%)	53 (59.6%)	0.01
Smoking	48 (22.9%)	31 (64.6%)	17 (35.4%)	0.02

Table 2. Distribution of quantitative baseline variables by study group

Quantitative variables	Total	Study group	Control group	<i>P</i> -value
Age (years)	55.5± 7.1	55.8± 7.4	55.2± 6.7	0.56
Duration of type 2 diabetes (years)	8.6± 2.3	7.2± 2.8	6.5± 1.7	0.04

Table 3. Distribution of cardiovascular events by study group

	Negative	Positive	<i>P</i> -value
Study group	87 (82.9%)	18 (17.1%)	0.10
Control group	95 (90.5%)	10 (9.5%)	

Table 4. Distribution of cardiovascular events according to gender

Gender	Number	Percentage	<i>P</i> -value
Male	18	20.9%	0.007
Female	10	8.1%	

Table 5. Logistic regression analysis of cardiovascular events between the study and control groups

Model	Odds Ratio	<i>P</i> -value
Unadjusted	1.96	0.10
Adjusted	1.35	0.60

statistically significant.

individuals is significantly higher than in non-diabetic populations, being approximately

two times higher in men and three times higher in women (19). These findings emphasize the substantial role of diabetes in increasing cardiovascular risk.

Weckbach et al. reported a CAD prevalence of 37% among diabetic patients, which is higher than the prevalence observed in the present study. Their study population consisted of 65 patients with type 1 and type 2 diabetes who had the disease duration more than 10 years (20), which supports our findings that the longer duration of diabetes, particularly type 2 diabetes, may contribute to an increased risk of cardiovascular complications and events.

In contrast to the findings of the present study, Huxley et al., in a meta-analysis of cohort studies, reported that diabetic women had a 1.5-fold higher risk of cardiovascular events compared with diabetic men (21). Differences in study design, population characteristics, sample size, and distribution of cardiovascular risk factors may explain these inconsistent findings.

Furthermore, hypertension showed a significant association with the occurrence of cardiovascular events in our diabetic cohort. This finding is consistent with previous studies which demonstrated a significant relationship between hypertension and cardiovascular outcomes (21-22). However, unlike those studies, the present analysis did not demonstrate a significant association between dyslipidemia and cardiovascular events. This discrepancy may be related to differences in sample size, study design, patient characteristics, or the widespread use of lipid-lowering medications among the study participants.

Conclusions

In conclusion, the results of the present study showed that the incidence of cardiovascular events was higher among diabetic patients with inadequate exercise tests compared with those who achieved adequate exercise tests; however, this difference was not statistically significant when myocardial perfusion scans

were normal. These findings suggest that a normal myocardial perfusion scan may indicate a relatively favorable prognosis in diabetic patients, regardless of whether the target heart rate is achieved during exercise testing.

Furthermore, several clinical factors were found to be associated with an increased risk of cardiovascular events. In particular, a longer duration of diabetes, smoking, and the presence of hypertension were more common among patients who experienced cardiovascular events. These findings are consistent with previous studies that have identified these variables as major cardiovascular risk factors in diabetic populations. Therefore, appropriate management and control of these modifiable risk factors are essential for reducing the risk of adverse cardiovascular outcomes.

Recommendations

Based on the findings of this study, further research with larger sample sizes and more diverse study populations is recommended to improve the statistical power and generalizability of the results. Including patients with different comorbid conditions and varying clinical characteristics may provide a more comprehensive understanding of cardiovascular risk factors in diabetic individuals.

Additionally, prospective studies with longer follow-up periods are recommended to better evaluate the long-term prognostic value of myocardial perfusion imaging in patients with inadequate exercise tests. Future studies should also consider assessing additional variables such as medication use, glycemic control, and other metabolic risk factors in order to improve risk stratification and provide a clearer understanding of predictors of cardiovascular events in diabetic patients.

Acknowledgments

The authors gratefully acknowledge the support of Shahid Sadoughi University of Medical Sciences, Yazd, Iran.

Funding

No funding.

Conflict of Interest

No conflict of interest.

Author contributions

AM.H, E.A: Conceptualization, Project administration, Methodology, Investigation, collecting the data, Writing-Review & Editing. Z.S, N.N: collecting the data. Methodology, Investigation, Writing-Review & Editing. SK.R, MA.J: Formal Analysis, Investigation, Writing-Review & Editing.

References

1. Farley A, McLafferty E, Hendry C. The cardiovascular system. Nursing standard (Royal College of Nursing (Great Britain)). 2012;27(9):35-9.doi: 10.7748/ns2012.10.27.9.35.c9383.
2. Benjamin EJ, Virani SS, Callaway CW, Chamberlain AM, Chang AR, Cheng S, Chiuve SE, Cushman M, Delling FN, Deo R, De Ferranti SD. Heart disease and stroke statistics-2018 update: a report from the American Heart Association. *Circulation*. 2018;137(12):e67-492.
3. Dunbar SB, Khavjou OA, Bakas T, Hunt G, Kirch RA, Leib AR, et al. Projected costs of informal caregiving for cardiovascular disease: 2015 to 2035: a policy statement from the American Heart Association. *Circulation*. 2018;137(19):e558-77.
4. Apple FS, Sandoval Y, Jaffe AS, Ordonez-Llanos J. Cardiac troponin assays: guide to understanding analytical characteristics and their impact on clinical care. *Clinical chemistry*. 2017;63(1):73-81.
5. Thygesen K, Alpert JS, White HD, Jaffe AS, Apple FS, Galvani M, et al. Universal definition of myocardial infarction. *Circulation*. 2007;116(22):2634-53.
6. Thygesen K, Alpert JS, Jaffe AS, Chaitman BR, Bax JJ, Morrow DA, et al. Fourth Universal Definition of Myocardial Infarction (2018). *Circulation*. 2018;138(20):e618-e51.
7. Israel O, Pellet O, Biassoni L, De Palma D, Estrada-Lobato E, Gnanasegaran G, et al. Two decades of SPECT/CT—the coming of age of a technology: an updated review of literature evidence. *European journal of nuclear medicine and molecular imaging*. 2019;46(10):1990-2012.
8. Felner JM. An overview of the cardiovascular system. *Clinical Methods: The History, Physical, and Laboratory Examinations*. 3rd edition. 1990.
9. Hicks KA, Mahaffey KW, Mehran R, Nissen SE, Wiviott SD, Dunn B, et al. 2017 cardiovascular and stroke endpoint definitions for clinical trials. *Circulation*. 2018;137(9):961-72.
10. Yusuf S, Hawken S, Ôunpuu S, Dans T, Avezum A, Lanas F, et al. Effect of potentially modifiable risk factors associated with myocardial infarction in 52 countries (the INTERHEART study): case-control study. *The lancet*. 2004;364(9438):937-52.
11. Albert N, Buller CE, Creager MA, Ettinger FS, Guyton RA, Ohman EM, et al. 2010 ACCF/AHA Guideline for Assessment of Cardiovascular Risk in Asymptomatic Adults. *Journal of the American College of Cardiology*. 2010;56(25):e50-103.
12. Davies MJ, Woolf N, Rowles PM, Pepper J. Morphology of the endothelium over atherosclerotic plaques in human coronary arteries. *British heart journal*. 1988;60(6):459-64.
13. Yew KS, Cheng E. Acute stroke diagnosis. *American family physician*. 2009;80(1):33.
14. Thaulow E, Erikssen J, Sandvik L, Erikssen G, Jorgensen L, Cohn PF. Initial clinical presentation of cardiac disease in asymptomatic men with silent myocardial ischemia and angiographically documented coronary artery disease (the Oslo Ischemia Study). *Am J Cardiol*. 1993;72(9):629-33.
15. Searls DE, Pazdera L, Korbel E, Vysata O, Caplan LR. Symptoms and signs of posterior circulation ischemia in the new England medical center posterior circulation registry. *Archives of neurology*. 2012;69(3):346-51.
16. Aggarwal S, Qamar A, Sharma V, Sharma A. Abdominal aortic aneurysm: A comprehensive review. *Experimental & Clinical Cardiology*. 2011;16(1):11-5.
17. Criqui MH, Langer RD, Fronek A, Feigelson HS, Klauber MR, McCann TJ, et al. Mortality over a period of 10 years in patients with peripheral arterial disease. *New England Journal of Medicine*. 1992;326(6):381-6.
18. Kazemini M, Salari N, Mohammadi M. Prevalence of cardiovascular disease in patients with type 2 diabetes mellitus in Iran: a systematic review and meta-analysis. *Journal of Diabetes Research*. 2020;2020(1):3069867.
19. Kannel WB. Framingham study insights on diabetes and cardiovascular disease. *Clinical chemistry*. 2011;57(2):338-9.
20. Weckbach S, Findeisen HM, Schoenberg SO, Kramer H, Stark R, Clevert DA, et al. Systemic cardiovascular complications in patients with long-standing diabetes mellitus: comprehensive assessment with whole-body magnetic resonance imaging/magnetic resonance angiography. *Investigative radiology*. 2009;44(4):242-50.
21. Huxley R, Barzi F, Woodward M. Excess risk of fatal coronary heart disease associated with diabetes in men and women: meta-analysis of 37 prospective cohort studies. *Bmj*. 2006;332(7533):73-8.
22. Bonakdaran S, Ebrahimzadeh S, Noghabi SH. Cardiovascular disease and risk factors in patients with type 2 diabetes mellitus in Mashhad, Islamic Republic of Iran. *EMHJ-Eastern Mediterranean Health Journal*. 2011;17(9):640-6.